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ECON 101 CCC 667/

MIDTERM 2 FALL 2017 Instructor: K.L. Wiseman
Allotted Time: 85 minutes 25 QUESTIONS AT 4 MARKS EACH = 100 MARKS

NAME: Last Name, First Name

UBC Student #:

EXAM PROTOCOL

» DO NOT OPEN THE EXAM, TURN IT OVER OR LOOK INSIDE UNTIL YOU ARE TOLD TO BEGIN.

= Students can have a BASIC calculator (NO STORAGE) & writing instruments only.

= Students are required to leave all personal belongings -- including pencil cases, jackets, purses,
backpacks, notes and cell phones on the floor by their desk OR at the front of the room.

»  Once the exam starts, students should not leave the exam room until they have completed and handed
in the exam. No leaving the classroom for bathroom breaks.

= Raise your hand if you have a question during the exam.

® {f you are done early, call one of the TA’s or the instructor and he/she will pick your exam up.

®  No leaving the exam room in the last fifteen minutes of the exam.

= When the exam time has finished, stop writing and pass your exam to the aisle. During this time, you are
still under exam conditions so please remain silent and seated at your desks.

WRITING THE EXAM INFORMATION

=  Please write neatly.

® Business exams are quick exams so use time management to complete all pages.

® Keep your answers brief and to the point — use lists, outlines and point form where appropriate.
= Read questions carefully and answer the questions in the space provided.

= Explicitly state any assumptions you have made.

TERMS: Definitions of some common instruction words.

Describe Give details of processes, objectives, items included, properties, or connection to a concept.
lllustrate Give concrete examples - including graphs, formulas or diagrams to explain.

Explain  Give detailed reasons for an idea, principle or result, situation or view. You may need to give
some analysis.

Discuss  Explain, give examples, points for and against, then analyze and evaluate the results.
Evaluate  Similar to discuss, but with more emphasis on a judgement in the conclusion.

Outline  Provide the main points plus a few details &/or examples to make the point clear and
demonstrate your knowledge of the point. Not just a list!

Contrast Emphasize the differences between two terms, elements or concepts.




QUESTION 1

a. Research has just revealed that pickles are highly beneficial to human intelligence. Prior to today’s news
release, the benefit of pickles was unknown. Briefly explain the effects of this news on the market
including effects - where applicable - on marginal cost, marginal benefit, externalities, socially optimal
quantity and deadweight loss. Use a well-labeled graph as part of the explanation.
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b. What is economic efficiency and how is it related to socially optimal quantity and externalities?
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QUESTION 2

Describe the tragedy of the commons and explain why it occurs. Please be sure you use the terms marginal
benefit and marginal cost in your explanation. In addition, include one real world solution in your

explanation. No graph required.
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QUESTION 3

Consider the market for noodles that is initially in equilibrium with a market price of P1 and a market

quantity of Q1. Noodles are an inferior good. Suppose that people’s incomes fall due to the financial crisis.
Provide a description of the outcome in this market due to these changes and draw a graph illustrating the
initial equilibrium and the new equilibrium after the described changes.
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Consider the market for soybeans in CCCland. The market demand is given as P = 1000 — 2Q while the market
supply is given as P = 200 + 6Q. For each of the following questions please show your work and not just your

final answer.

a. Given the above information, what is the equilibrium price and equilibrium quantity, consumer surplus

and producer surplus in this market?

equilibrium price and equilibrium quantity
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b. Now suppose that the government of CCCland implements a price floor in the market for soybeans and
this price floor is set at $500 per unit of soybeans. Describe (no numbers required) the term price floor,
impact of this price floor on the market for soybeans and in your answer, explain why this is the impact.

K Flow-

| puost [ﬁ@n ?nce NW

blj aoV@i

NE e%e’—'('&?oma) NI VI
4;%55@7) ogm) Prue

- No

IMP AT

T\—\

U |-

5

> =00 Face Lo .

QUDL (

Pnue CmbnS
D

723> 10D



¢. The government decides to institute a price ceiling in this market for soybeans instead of the price floor.
The government sets this price ceiling at $400. Describe (no numbers required) the term price ceiling,
impact of this price ceiling on the market for soybeans and in your answer, explain why this is the impact.
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d. Now determine how many units of soybeans are traded, value of consumer surplus, and the value of
producer surplus in this market given this price ceiling. P = 4D
Units of soybeans
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e. Why do we need to determine the economic surplus in the scenarios such as the values calculated in

question? Explain your reasons please.
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QUESTION 5

Compute the value of price elasticity of demand using the arc method if price decreases from $0.95 to $0.85,
and quantity demand change from 350,000 unit to 450,000 per month. Also, explain the meaning and use of
the value.
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QUESTION 6
Market equilibrium is
a. Inefficient only if we have negative externalities present
b. Inefficient only if we have positive externalities present C
c Inefficient if we have either negative or positive externalities present
d. Always efficient, regardless of the nature of externalities
Select your answer and then using a well labelled graph, explain your reasons to support your answer.
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QUESTION 7

In CCCland, government officials are considering implementing an excise tax on the producers of textbooks.
They have called you in to analyze the impact of this proposed tax. Currently (before the excise tax) market
demand and market supply of textbooks is given in CCCland are given by the following equations where P is
the price per case of textbooks and Q is the quantity of cases of textbooks:

Market Demand: P =90 - (3/2)Q Market Supply: P =20 + (1/4)Q

The government officials propose implementing an excise tax of $7 per case of textbooks on producers. Use
this information to answer the following set of questions. Be sure to show how you got your answers.
a. With the imposition of this excise tax, how much tax revenue will be collected by the government in

Boomtown?
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b. With the imposition of this excise tax, what will be the change in consumer surplus relative to the initial
level of consumer surplus? P
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d. Calculate the consumer tax incidence and the producer tax incidence of this excise tax. Who bears the
greater economic burden of this excise tax? Explain your answer using a well labelled graph
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QUESTION 8
Why and how do accountants and economists calculate a firm's cost and profit in different ways? Explain.
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QUESTION 9

Describe the free-rider problem in provision of goods in the market and explain why this problem makes the
private provision of a public good inefficient? Explain.
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QUESTION 10
Describe the principal-agent using a real-world example and list one method that can be used to reduce this
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QUESTION 11
List the four conditions of perfectly competition market and explain what conditions would need to change to

allow the industry to become a monopolistic competition market.
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QUESTION 12
lllustrate the relationship between the concepts of externalities, property rights and Coase theorem.
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QUESTION 13

Contrast the following terms, Negative production externality and Negative consumption externality. Be sure

your answer includes a definition of the terms, examples, and impact on the market. Yes, a well labelled M (
graph should be part of your explanation. AWDSF
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A black market may result when governments intervene in the market witdQ)khe intent of assisting consumers

or producers. True, False or Uncertain. Explain.

¥ A
Pr
BiNDING—
Gy 7 Ronr
¥ (ONTEDL -
\D

———

6

Bsm
2148

P* muwme T Pay v AMT
>P  pnt ol ‘4j_é
ﬁmlf:’@ Riaa. Mer

Crmcre Yov N

WiTH A TEASON NG -

e Ny IF

Mrre Aue Powrs/
R e 16 Vary

QN THey NO

Blae M1



QUESTION 15

Contrast the following terms — do not list everything just provide the main elements that show the contrast!
Be sure to use a well labelled graph (if applicable) and examples as part of your explanation.

a. Market coordination versus Firm Coordination
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b. Private Good and Public Good

Tryvare
RvaLt 7Xad AsLE

Fiem . Prwy CoNteonso

vig Fen thee /o N
(RPITAL, (ABOKEL, LAND
4+ USE (OMMAND ¥
INCENTIVE SNSTTMS

ALpuc

Rwvar+ Now
New 7 xaunAARL

c. Marginal Social Benefit of a Public Good versus Marginal Social Benefit of a Private Goods
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